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() Answer all questions. (/ \O

(i} In each of the questions 1 to 40, pick one of the mf.r:nmnvz

most appropriate.
{1ii) Mark a cross (%) on the number corresponding to your c du answer gheef provided.
_/F‘a-l'.l'uw them carefully.

(iv} Further instructions are given on the back of the answ,

/A3), (4) which is correct or

L8

7.

(1) 11 (2) 35 3 1 (4) 10

. Which of the following decimal numbers is nquivalentt% number 01011,?
5

Which of the following octal numbers is equival
(1) 7552, (2) 2667,

The hexadecimal equivalent of 11101011000111

0, is:
(1) DD&3A (2) 1D63A (ﬁ,\ﬁ
Consider the following statements: @

A - 1B, is equivalent w 53,

B - 43 is equivalent 1o 101011,

C - 101011, is equivalent o 53
Which of the above statements are
(1) A and B only (2 A

Which of the following communi
(1) Unshielded Twisted Pair (
(3) Coaxial cable

Some devices serve as
devices, Which
(1) Touch scree
{3} Printer and

Which of the @! ing h tables is equivalent o the logic circuit given below?

A
Chstput

7, (4) 7662,

334 (4) D63

(2} Owptical Fiber
(4} Shielded Twisted Pair (STF)

serve as output devices only?
SCAMMET {2) Printer and webcam

g{gtum:y number 111110110010,

(3) B and C only {4) All A, B and C
ion media uses the reflection of light to transmit data?

(4) Touch screen display and barcode reader

input or outpul devices only while others serve as both input and output

AN Crugpan A B | Output 1 A B | Cutpur A g | Output
\0 | VD 1 0| o 0| 0|0 0 0|0 0
[ 1 0| 1 0 0| 1 : 0 | 1 1

| 0 1 1 0 | 1 0 0 1 0 I
| | o | | 1 0 I 1 0 1 I o
(4} (2) (3 (4)




mmm‘lﬂ-m, TLNEW) =

9.

1.

12,

% = Flece the mouse pointer on the file and double-click the left button of the mouse

Which of the following logic circuits has a truth whie equivalent to A
u:mrthubhui the logic circuit shown on the right hand side? Output
B
B

A
B :D—L
@) }ﬂmr
A
=
Consider the following ststerments:
A - Managing the hardware &
B - Providing User Interface
C - Providing Spreadsheet and Word Processing facilities
Which of the above are key services of an operating system?

{1} A and B only () A and C only (3 B and C b Al A, B and C
Consider the following stalements:

A - Regisier memory in a computer has a smaller capa aan that of a hard disk.

B - Data access speed of register memory iz shower th e speed of a hard disk

C - P:rbltmsimnmu:hmlnr:pusrm i |I1=p::rbum:nmdmln:
hard disk,

Which of the sbove siatements are irue? j
{1} A and B only {Z) A and C only and C only 4 All A, B and C

Consider the following statements:
A - Logging into a computer using a s

B - Downloading and installing a free

C - The manager of an online shop, sel
company without the consen

Which of the abhove E.HITIF-I.E.H Crédle ethica
{1y A and B only (Il B [ :m.]<1.'>

4]

a ID and password of another person

g J- i source software without paying for a license

g @ list of email addresses of his customers o a marketing
¥ cuslomers

(3 A and C oaly = All A, B and C

The following four icons label LB, ® and B are commonly sed In word processing software
i align text in a documen

el

® @

A-B o left and ® aligns text to right
B - text to left and & aligns wxt anly 10 right
C - @ i 1o centre and & justifies text
Which Q the ¢ statemenis are trae?
and B pnly (2} A and C only (3 B end C only 4) All A, B and C

2 [ollowing statements regarding tasks carried out on a spreadsheet file in a Tolder by a right

~ Flape the mouse pointer on the file and single click the right button of the mouse
H~ Flace the mouse poanter on the file and double-click the right bution of the mouse

ch of the above results in opening the spreadsheet file?
(1) A caly {2} B oaly {(3) C only (4] A and C only

J

[see page three
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14. Consider the following stmiements related o the use of shor-cut keys in commonly used word processing
softwares:
A - Cirl + C is used 10 copy lextiobjects
B - Cirl + A is used 1o select all lextiobjects in a document
C-EM+\’isuwdlnpquﬂHﬂhj¢mﬂrudymﬁnd
Which of the above statements arc cormect?
(1) A and B only 2y A and C only {3) B and C only () All A, B

15. What would be the number displayed, if formula =243+({5-3)*6/4 is entered in a cell pi(a
(13 (2) BS (3 1l (4 -1.25

# Circumference of a circle can be calculated
with the formula 2Zmr where r is the radius
of the circle.

# Assume that the value of 7 is given in
cell CZ.

16. What formula should be entcred into cell B2 1o calculate Q of the circle?
(1) =2*$C52*A2 (2) =2*$C2M5A2 (3 = -“-) (4) =2ACIAAZ

17. Which of the following will appear in cell A6 if I:hc%% UM(AZASNCOUNT(AZ:AS) is entered in
cell AGT

m 1 2 176 2/ (4) B8
18. Consider the following siatements relating ; with multiple objects, created using a presentation
aofiwere:

tiple objects on a given slide
n the whole slide only
mmnmmmumlmhﬁ#mm

A - The animation effects can be applied
B - The slide transition can be appligd
C - The slide transition effect appears
Which of the shove slalements are co

(1" A and B only {2} A and :mlb i3 B and C only {4 All A, B and C

® Questions 19 o 22 are based nﬁngdmmmmﬁusndmmsmalﬁaummﬂ.
Student Table Subject Table Marks Table
DoB | Name | Student_No| Class | |Sub_Code | Subject Sub_Code | Student_No | Marks
20011/95 | Sarath | (1001 | 1A 01 Sinhala o1 1001 BS
17/12/95 | Kolitha {1002 1A 02 Arl 02 1001 80
21/10095 | Kapi 1003 1A 03 English 0l 1002 65
18/1295 | " Nalin 1004 1B 03 1003 70
19. How many ficlds are in the Subjects table?
(o 2 o (2) 3 (3) 4 @ 6

20, What w e the most suitable field as the primary key for the Studeni Table?
el (2) DoB {3) Namc (4) Class

ld ke an example for a foreign key in the databosc?
&' _Code in Subject Table (2) Sub_Code in Marks Table
(3p Marks in Marks Table (4) DoB in Student Table

22, many marks did Kapila obtain for English?
(1) 65 {2y 70 {3) RO {4) 85

Fowmas Ppms R
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23. Consider the following siatements related 1o database software:
A - A collection of fields related to onc object is called a record
B - A collecion of related tables is called a database
C - A Foreign key of one table is the primary key of another table
Which of the above siatements are correct?
(1y A and B only (2} A and C only (3 B and C only @ All A, B and C |

24. Consider the algorithm in the following fliowchar:

What values will be displayed for X s
flowchar?
{1y 10, 10 (2y 10, 20

25, Consider the following pseuvdocode abel ® 1o find the product of numbers from 1 o 10.
product = |
number = 0

repeal
number = numbe

szions is correcl for label Er

(1) mumbers 10 number < [0 (3} mumber== 10 () nwnber<= 10
26. Which of t@g pscudocode scgments |5 eguivalent to the logic of the algorithm given in the

floweha
START

{2y for N=0 1o 10 do

Nogs 10 display N Y
N=N+ ] orkals

N "y
M=M +]
[ (4 Jor N=1 1o 10 do 1'

%h e Ne=10 display N / DISPLAY N/
& display ¥

M=N+1 Mo

% end while N>97

Yes

[see page five
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27, Consider the following psendocode:
X=0
da
el gy * "
Xe=X4+2
while X =5

(2 2) -4 ) 5 (@) 6

28, Consider the following pseudocode: @
if average=T0 then
if Sport_colowr = ‘True’ then

Allrounder_award = “Trye'

&
2
end if
Which of the following is equivalent to the logic of the above psewdocod)
(13 if average=T0 AND Spori_colour = “True’ then Allrounder_gws @ . E

(2) Il average=T0 OR Spori_colour = “True' then Allrounder awan
(3} if average=70 then Allrounder_award = “Trug’
{4} if Sporti_colour = ‘True’ then Allrounder_award = “Trie’

SN

® Use the following paragraph to answer questions 29

Currently users of a school library ¢an reserve a
sending a leter when the book i3 available. Sord
The librarian is planning 10 introduce a new info

the new sysiem 8 user can reserve s book online

e e
reserved is availsble to borrow, The librarian _-,_-g.r,. i
operate tll they make sure that the new sy A Wk without any problem.

29, Consider the following statements related 1o
A - The new system will improve effici
B - The new system will improve
C - The new sysiem will have @ &

(1} Domain Mame {Z] Hypertext Transfer Protocol.
(3) Path where the resource i, located. (4] Resource,

32, Which of the fol
& mot known?

{E} Search ﬁngl@ (2) File Transfer Protocol (FTF)
{3) Email s & {4} Domain Name Server

S
©

{1} Parallel {IJ
31. Consider the URL "h':tp.' nets lexam™, The “doenas. k™ is called,

A3 the output of the above pseudoeade, how many times the * # * will be displayed? @

ﬁn;alu'm.'m: library informs the user by
library informs the wrong users by mistake.
o replace the cumrent manual system. With
sends an email to the user when the book
both manual system and the new sysiem to

[3) B and O only (4) Al A, B and C

M. Which of the following is the proposs deployment approach for the above Information System?
Phazed (3 Direct (4] Both parllel and direct

be used 1o find a piece of information on a website when the relevant URL

J

feoa Fiviie civ
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33, Consider the following segment of an email sent o Ajith end three others:

If you send the email to Iplhﬁdn:.]k s given nl:am: who are the rc.mp::u{ ;im will see as having

received this email? :
{11 only ajithi®doe|k
(2} only ajpthéfdoelk, rizvi@niclk and kumar®schoolnet

(3) ajith@doelk, rizvi@nielk, kumar@school.net and frank@nic.k
() only ajith@doelk and frank@nic.lk

J4. Which of the In]lnwm;g in HTML, can be used o provi nformation for an image if a user
canngd view the image due o slow internet mm:m"‘

(1) src (2} href {5 al 4) img
35. What is the cormect HTML code segment for creating @i k, “Ministry of Education® for hitpifwew,

moe.govik?

(17 =mehitpal! www.moe.gov.]k<fas

(2) =a bref="hitp2! www.moe. govik"= h-'[uuq

(1) «<n names"hitp:¥ www.moe.gov k" M:ul

(4) =m ur="hitp wwwmoepovlk"= str_l.r

3. Which of the following HTML tags
(1) =ul= (2) b

37, Consider the following scenanos:
A - Obaining a copy of an org

B - Paying water bills onling o

C - Obiaining the revenue

Which of the above are e-govermmend

(13 A and B only Aand C

l.u make a numbered fist in HTML?
{3} <ok {4} <list=

g the webmlc of the Mational Water Supply and Drainage Board
r 4 vehicle online

aied services?

{3} B and C anly {4y all A, B and C

e examples for logical security?
i2) A and C only (3 B and C only () Al A, B and C

(21 B only (3 C only {4y A and C only

following statemenis
A SoCareless disposal of electromic waste imo the environment.
B Handing over unusable Compact Fluorescenmt Light (CFL) bulbs and other electronic devices o
Q recycling Cceniies
o« Sell or donate working electronic devices o cthers withoul discarding them
Eﬁ ch of the above are examples for safe e-waste disposal?
(1y A and B only () A and C only {31 B and C only (4 All A, B and C

#* #




